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1. oo fitdl e e fir /e Taacor 1M Sfenea -
1%6=6

Answer the following questions/Choose the
correct answer :

(a) SRS Teaerel Jfercer & &2

What do you mean by scarcity in
economics?

(b) TFE PO IfEsTe wefRewre o w2y 2
Microeconomics does not deal with
(i) ST s

aggregate demand
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(2) (3)

(i) IV T (ii) ot =
national product downward sloping
() {77 wq (i) S 2
general price level minimum
(iv) ST <bre oy (iv) ™ 27
None of the above maximum
(0) & ToereR SEvTOS = | () =TS AFPoTel TG Wo qe WF ARPeITe
The consumer is in ;@brium when o A
1 The relationship between profit and
. MU P uncerta@nty, according to the
(i) = e uncertainty theory of profit, is
MU, Py 6 e
@ MUx _Px direct
Ml goeBy (i) R Treyt
(iti) y—UA _Px inverse
PPy (iii) 0
(iv) e7="g qore EEw Zero
None of the above (iv) 799 qbre 72y
(d) g AR 9 None of the above

What is Substitution effect? 2. e aaRe R @ RfvR eoqe 5 G o

(e) ﬁﬁ@mm@wwmwﬁm (efSTo1 Yeo A foeve) - 4x3=12
Marginal cost cu i : Write short notes on any three of the
t ts average -
€ost curve, when :\?e;;lggriz‘;tscurve is following (within 150 words each) :
() T = (@) TR W% T
Upward sloping Scarcity and choice
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(b)

(c)

(d)

(e)

(4)

7w Rforremer
Price elasticity
TR o

Production function

T8 TR, T T e oS e A
o

Relation among total product, average
product and marginal product

FERT = A SR =@

Normal profit and supernormal profit

O PR T et (2K €00 w1 o) -
Answer the following questions (within 500 words

each) :

3. (a)

(b)

P25/459

TR A RmwE W R e
901 :

Discuss the subject matter and scope of
microeconomics.

{1/ Or

VIR 7 oo R0 W @ o
W2 7 RO AIRER TR e
oF etz 2 =

Whaif is price elasticity of demand? How
C??n 1t|be measured? Explain its types
with diagrams and suitable examples,

11

2+4+5=11

( Continued )

e

4. (a)

(b)

5. (a)

(b)

P25/459

(S)

e @R afErER B 2 Feere @R
RS & TACSIGR, (AR STTee Toare
3’7 9Iq, I a1
What are the properties of indifference
curve? Explain how a consumer attains

equilibrium with the help of indifference
curve.

924/ Or

T W AR W R W S
e s Remm w41 =1, 9ft e fouq
SRENS AT 54 1

Explain how price effect of a commodity
is decomposed into income effect and

substitution effect with the help of a
suitable diagram.

TeoMe AfSve @R S RS Aifgs s
HF AifeT I8 @R TN TE SCErs]
il

Discuss the application of marginal
revenue and marginal cost curve in
determining the equilibrium of a firm.

¥4/ Or

s qee TR SRR Sz 391 41 |

Explain the profit maximization
conditions in input market.

6+5=11

11
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(6)

6. (a) GIEHA ITES TTFEA TF TLFIEA 77 S
T (e Fefs s =, a1 10

Explain price and output determination

under monopoly firm in the short run
and long run.

¥4/ Or

(b) o dfsPrenEe wwRT TER @ SwEE

RHFIAA @ @ @S wimw 41 2, s
SIS [HEN T

Explain with the help of diagram how a
long-run supply curve is derived from a

decreasing cost industry under perfect
competition.

(fefe 20 T 2020 TR TI-TE AT )
( Additional 20 marks for 2023 Batch )

7. o[ R @ wRG aue Tey f 5x4=20

Answer any four questions from the
following :

(a) TICEIER Tge F1 @M 2 o= q@i3 o |

What do you mean by consumer’s

surplus? Explain with the help of a
diagram.
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(b)

(c

(@)

(e)
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(7))

TR 74 AfRESE A @R @ TR
FCE 7 S 90

How does budget line shift as a result of
prices change? Discuss.

TEAEY FIE QAUA? Bag SRTS  SCEnal
41

What is iso-cost line? Discuss with the
help of diagram.

ZFPEE I (FAPFR ST 911

Draw short-run cost curves.

oAf eifcarenEe T CAREPTR o |
Write down the characteristics of perfect
competition.
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